Attorneys and Counselors at Law The Guardian Building, Suite 2825 500 Griswold Street Detroit, MI 48226-3480 (313) 965-1900

Tax I.D. 38-3510534

GPW USSIC Shawn Murphy, Treasurer City of Grosse Pointe Woods 20025 Mack Plaza Grosse Pointe Woods MI 48236 Page: 1 June 15, 2022 Claim No: JPJPC-20222Q Statement No: 6

## RECEIVED

JUN 1 5 2022

USSIC v City of Grosse Pointe Woods

CITY OF GROSSE POINTE WOODS CLERK'S DEPARTMENT

## For Professional Services through : 05/31/2022

05/04/2022	TAD	L510	A108	Communicate (other external) - E-mail from	Rate	Hours	
0010412022	me	2010	7100	Jonathan Walton re: USSIC's Initial Disclosures in Consolidated Actions.	285.00	0.10	28.50
05/06/2022	TAD	L510	A104	Review/analyze Scheduling Order and Order to Consolidate.	285.00	0.10	28.50
05/09/2022	TAD	L510	A108	Communicate (other external) - E-mails (2) from and to David Cutter re: Scheduling Order and Order to Consolidate.	285.00	0.10	28.50
	EPC	L510	A104	Review/analyze USSIC's Initial Disclosures, applicable Court Rules, and documents produced by client in preparation of our Initial Discovery Disclosures.	285.00	1.40	399.00
	EPC	L510	A103	Draft/revise our Initial Discovery Disclosures Pursuant to MCR 2.302(A) (begun).	285.00	1.10	313.50
05/10/2022	EPC	L510	A103	Draft/revise our Initial Discovery Disclosures (continued).	285.00	2.80	798.00
05/11/2022	EPC	L510	A102	Research re: MCL 500.2006 and right to collect 12% penalty interest in light of USSIC's admission it has not been paying defense costs.	285.00	0.40	114.00
	EPC	L510	A104	Review/analyze correspondence from Counsel for USSIC re: defense obligations and payment of McGraw Morris.	285.00	0.50	142.50
	EPC	L510	A103	Draft/revise our Initial Discovery Disclosures (finalize).	285.00	1.30	370.50
	TAD	L510	A102	Research re: potential claim for penalty interest for benefits not paid to McGraw Morris.	285.00	0.20	57.00

USSIC v City of Grosse Pointe Woods

Page: 2 June 15, 2022 Claim No: JPJPC-20222Q Statement No: 6

		1 5 1 0	A 1 O 4	Paviau/apaluza Lattar from USSIC ray Amandad	Rate	Hours	
	TAD	L510	A 104	Review/analyze Letter from USSIC re: Amended Complaint, payment of defense costs, and recoupment of defense costs.	285.00	0.50	142.50
	TAD	L510	A108	Communicate (other external) - Letter to Defense Team re: how to respond to latest letter from USSIC.	285.00	0.70	199.50
	TAD	L510	A108	Communicate (other external) - E-mails (2) from and to Debra Walling re: McGraw Morris.	285.00	0.10	28.50
05/12/2022	TAD	L510	A108	Communicate (other external) - E-mail from Jake Howlett, Counsel for Grosse Pointe Park re: 5/11/22 USSIC Letter.	285.00	0.10	28.50
	TAD	L510	A108	Communicate (other external) - E-mails (2) to and from David Cutter re: Proposed Amended Complaint.	285.00	0.10	28.50
05/13/2022	TAD	L510	A108	Communicate (other external) - E-mails (2) from and to Defense Team re: USSIC's Proposed Amended Complaint is forthcoming.	285.00	0.10	28.50
05/17/2022	TAD	L510	A108	Communicate (other external) - Telephone call with Mr. Schulte re: our Initial Disclosures and Dispositive Motion strategy.	285.00	0.30	85.50
	TAD	L510	A103	Draft/revise our Initial Disclosures and Requests to Produce Documents.	285.00	0.40	114.00
	EPC	L510	A103	Draft/revise our Initial Disclosures and Requests to Produce (finalize).	285.00	0.30	85.50
05/18/2022	TAD	L510	A108	Communicate (other external) - E-mails (3) to and from Jake Howlett, Counsel for Grosse Pointe Park re: Initial Disclosures, Discovery Requests, and USSIC's Proposed Amended Complaint.	285.00	0.10	28.50
	TAD	L510	A108	Communicate (other external) - E-mails (2) from and to Frank Schulte re: approval for serving our Initial Disclosures and Discovery Requests on USSIC.	285.00	0.10	28.50
05/23/2022	TAD	L510	A108	Communicate (other external) - E-mails (3) to and from Jake Howlett, Counsel for Grosse Pointe Park re: GPP Initial Disclosures.	285.00	0.10	28.50
05/24/2022	TAD	L510	A104	Review/analyze Proposed Amended Complaint from USSIC - Develop strategy with Mr. Conn.	285.00	0.60	171.00
	EPC	L510	A104	Review/analyze Proposed Amended Complaint			

GPW US	SSIC
--------	------

Page: 3 June 15, 2022 JPJPC-20222Q Claim No: Statement No: 6

USSIC v City of Grosse Pointe Woods

				from USS	IC - Develop s	strategy with N	/Ir. Dien	ner.				171.0	00
	TAD	L510	A108	Defense 7	Team re: evalu	ation of USSI			285.00	) (	0.10	28.5	50
.022	TAD	L510	A108	and to De	d to Debra Walling re: GPP's reaction to							28.5	50
022	TAD	L510	A108	with Coun	sel for Grosse	Pointe Park r		all	285.00	) (	).20	57.0	0
												-	
				Total Fee	s and Costs:								
				Previous I	Balance							\$9,804.0	0
					Pay	ments							
022				Payment -	- [6/9/22] - CK <del>i</del>	#63507 - Thar	nk you!					-9,804.0	0
				Balance [	Due							\$3,562.5	0
					Billin	g History							
			70	<u>Fees</u> 0,623.00	Expenses 87.55		<u>harge</u> 0.00						
					Task Co	de Summary							
Annell	ate Mot	ions and	Submis	ssions									
								-	1000	-			
Please Remit							\$3,562.5	0					
	022 022 Appell	022 TAD 022 TAD	022 TAD L510 022 TAD L510 022 022	022 TAD L510 A108 022 TAD L510 A108 022 70 Appellate Motions and Submis	TADL510A108Communi Defense Proposed022TADL510A108Communi and to De USSIC's F022TADL510A108Communi with Cour Amended For Curre022TADL510A108Payment -022TADL510A108Ealance I022Payment -Fees 70,623.00Fees 70,623.00	TAD L510 A108 Communicate (other exile Proposed Amended Control Proposed Amended Control Proposed Amended Control Proposed First and to Debra Walling results and the Pays for Current Services Results and Costs:   022 TAD L510 A108 Communicate (other exists and Costs: Previous Balance   023 Payment - [6/9/22] - CK3 Balance Due Billin Fees and Costs: Strenses and Strenses and Strenses and Strenses and Strenses Strenses and Strenses and Strenses   Appeal Appeal Strenses and Strenses Strenses and Strenses	TAD L510 A108 Communicate (other external) - E-ma Defense Team re: evaluation of USSI Proposed Amended Complaint.   022 TAD L510 A108 Communicate (other external) - E-ma and to Debra Walling re: GPP's reacti USSIC's Proposed First Amended Complaint Strategy.   022 TAD L510 A108 Communicate (other external) - Telep with Counsel for Grosse Pointe Park of Amended Complaint strategy.   022 TAD L510 A108 Communicate (other external) - Telep with Counsel for Grosse Pointe Park of Amended Complaint strategy.   023 Total Fees and Costs:   Previous Balance Payments   024 Payment - [6/9/22] - CK#63507 - Than   025 Payment - [6/9/22] - CK#63507 - Than   026 Expenses Finance C   027 Payment - [6/9/22] - CK#63507 - Than   028 Balance Due Billing History   Fees Expenses Finance C   70,623.00 87.55 Task Code Summary   Appeal Appeal Submissions	TAD L510 A108 Communicate (other external) - E-mail to Defense Team re: evaluation of USSIC's Proposed Amended Complaint.   022 TAD L510 A108 Communicate (other external) - E-mails (2) fr and to Debra Walling re: GPP's reaction to USSIC's Proposed First Amended Complaint.   022 TAD L510 A108 Communicate (other external) - E-mails (2) fr and to Debra Walling re: GPP's reaction to USSIC's Proposed First Amended Complaint.   022 TAD L510 A108 Communicate (other external) - Telephone ca with Counsel for Grosse Pointe Park re: Amended Complaint strategy. For Current Services Rendered   Total Fees and Costs:   Previous Balance Payments   Billing History   Eees Expenses   Table Due Sinance Charge   Task Code Summary   Appellate Motions and Submissions	Defense Team re: evaluation of USSIC's Proposed Amended Complaint.   022 TAD L510 A108 Communicate (other external) - E-mails (2) from and to Debra Walling re: GPP's reaction to USSIC's Proposed First Amended Complaint.   022 TAD L510 A108 Communicate (other external) - Telephone call with Counsel for Grosse Pointe Park re: Amended Complaint strategy. For Current Services Rendered   Tatal Fees and Costs: Previous Balance   D22   Payments   022 Payment - [6/9/22] - CK#63507 - Thank you!   Billing History Fees   Finance Charge 70,623.00   Task Code Summary   Appeellate Motions and Submissions   Appeal	TAD L510 A108 Communicate (other external) - E-mail to Defense Team re: evaluation of USSIC's Proposed Amended Complaint. 285.00   022 TAD L510 A108 Communicate (other external) - E-mails (2) from and to Debra Walling re: GPP's reaction to USSIC's Proposed First Amended Complaint. 285.00   022 TAD L510 A108 Communicate (other external) - E-mails (2) from and to Debra Walling re: GPP's reaction to USSIC's Proposed First Amended Complaint. 285.00   022 TAD L510 A108 Communicate (other external) - Telephone call with Counsel for Grosse Pointe Park re: Amended Complaint strategy. 285.00   022 TAD L510 A108 Communicate (other external) - Telephone call with Counsel for Grosse Pointe Park re: Amended Complaint strategy. 285.00   For Current Services Rendered   Total Fees and Costs:   Previous Balance Payments   022 Payment - [6/9/22] - CK#63507 - Thank you! Balance Due   Billing History   Fees Finance Charge Payments   Task Code Summary   Appeellate Motions and Submissions   Appeel	from USSIC - Develop strategy with Mr. Diemer.285.00TADL510A108Communicate (other external) - E-mail to Defense Team re: evaluation of USSIC's Proposed Amended Complaint.285.00022TADL510A108Communicate (other external) - E-mails (2) from and to Debra Walling re: GPP's reaction to USSIC's Proposed First Amended Complaint.285.00022TADL510A108Communicate (other external) - Telephone call with Counsel for Grosse Pointe Park re: Amended Complaint strategy.285.000022TADL510A108Communicate (other external) - Telephone call with Counsel for Grosse Pointe Park re: Amended Complaint strategy.285.000023TADL510A108Communicate (other external) - Telephone call with Counsel for Grosse Pointe Park re: Amended Complaint strategy.285.000OutputFor Current Services RenderedDilling Hees and Costs: Previous BalanceBilling History Eees Tote23.00Finance Charge Payments 87.55OutputTask Code SummaryFees Appellate Motions and SubmissionsAppellate Motions and SubmissionsAppellate Motions and Submissions	from USSIC - Develop strategy with Mr. Diemer. 285.00 0.60   TAD L510 A108 Communicate (other external) - E-mail to Defense Team re: evaluation of USSIC's Proposed Amended Complaint. 285.00 0.10   022 TAD L510 A108 Communicate (other external) - E-mails (2) from and to Debra Walling re: GPP's reaction to USSIC's Proposed First Amended Complaint. 285.00 0.10   022 TAD L510 A108 Communicate (other external) - E-mails (2) from and to Debra Walling re: GPP's reaction to USSIC's Proposed First Amended Complaint. 285.00 0.10   022 TAD L510 A108 Communicate (other external) - Telephone call with Counsel for Grosse Pointe Park re: Amended Complaint strategy. 285.00 0.20   022 TAD L510 A108 Communicate (other external) - Telephone call with Counsel for Grosse Pointe Park re: Amended Complaint strategy. 285.00 0.20   For Current Services Rendered   Displance Due   Balance Due   Balance Due   Task Code Summary   Fees   Task Code Summary   Fees   Task Code Summary	from USSIC - Develop strategy with Mr. Diemer. $285.00$ $0.60$ $171.0$ TADL510A108Communicate (other external) - E-mail to Defense Team re: evaluation of USSIC's Proposed Amended Complaint. $285.00$ $0.10$ $28.5$ 022TADL510A108Communicate (other external) - E-mails (2) from and to Debra Walling re: GPP's reaction to USSIC's Proposed First Amended Complaint. $285.00$ $0.10$ $28.5$ 022TADL510A108Communicate (other external) - Telephone call with Counsel for Grosse Pointe Park re: Amended Complaint strategy. $285.00$ $0.20$ $57.0$ O22TADL510A108Communicate (other external) - Telephone call with Counsel for Grosse Pointe Park re: Amended Complaint strategy. $285.00$ $0.20$ $57.0$ O22TADL510A108Communicate (other external) - Telephone call with Counsel for Grosse Pointe Park re: Amended Complaint strategy. $285.00$ $0.20$ $57.0$ O22Total Fees and Costs: Previous Balance $3,662.5$ D22Payment - [6/9/22] - CK#63507 - Thank you! $-9,804.0$ D22Payment - [6/9/22] - CK#63507 - Thank you! $-9,804.0$ D22Payment - [6/9/22] - CK#63507 - Thank you! $-9,804.0$ D22Payment - [6/9/22] - CK#63507 - Thank you! $-9,804.0$ D22Payment - [6/9/22] - CK#63507 - Thank you! $-9,804.0$ D23D24D25D24D2

592530812,000 Som lel 15/2022 T-S 6-15-22

Final Statement Run Totals 06/15/2022

Statements Printed:	1
Hours:	12.50
Fees:	3,562.50